Multiply by Positive Powers of Ten (A)

Find each product.

79 X 10 = 15x 100 =
22 %X 1,000 = 15x%x 1,000 =
49 x 1,000 = 54 x 1,000 =
16 X 10 = 11 x 10 =
20 X 1,000 = 71 x 1,000 =
81 x 100 = 24 x 10 =
60 X 100 = 37 X 1,000 =
68 X 10 = 15x%x 1,000 =
55x100 = 28 X 1,000 =
79 x 1,000 = 73 x 10 =
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Multiply by Positive Powers of Ten (A) Answers

79 x 10 =790

22 x 1,000 =22,000

49 x 1,000 = 49,000

16 X 10 =160

20 x 1,000 = 20,000

81 x 100 =8,100

60 x 100 = 6,000

68 X 10 = 680

55x 100 =5,500

79 x 1,000 = 79,000

Find each product.

15x 100 =1,500

15 x 1,000 = 15,000

54 x 1,000 = 54,000

11 x10=110

71 x 1,000 =71,000

24 x 10 =240

37 x 1,000 =37,000

15 x 1,000 = 15,000

28 X 1,000 = 28,000

73 x10=730
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